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Cell membrane is:
(A) Permeable
(B) Impermeable
(C) Semipermeable

(D) Plasmodesmata

In  which medium diffusion
occurs?

(A) Solid

(B) Liquid

(C) Gas

(D) All three

If osmotic potential of a cell 1s-10
bars and its pressure potential is 5
bars, its water potential will be:
(A) -5 bars

(B) +5 bars

(C) -10 bars

(D) +10 bars

Which one will be the osmotic

pressure of pure water?

PRI f3rcel! o

(A) TR

(B) SmURTH

(C) IR

(D) ASTHISHHET

fopst e ¥ faRr @ 27

(A) o9

(B) =g

(C) 9

(D) & A

e &l i &1 Wl fawa
—10 IR ¥ AT 39 <9 fava 5 IR @
AT I fava g

(A) -59R

(B) +59R

(C) -103R

(D) +10 IR

P TP Y& S P RERVIAGE
&7

A) 0 (A) 0
(B) +1 (B) +1
©) -l ©) -l
(D) 0.1 (D) 0.1
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5. Seed swells when placed in water 5.

because of:
(A) Osmosis
(B) Imbibition
(C) Hydrolysis

(D) None of the three

6. Selective permeability identifies 6.

the process of :
(A) Diffusion
(B) Osmosis

(C) Imbibition

(D) Plasmolysis

7. In the process of osmosis : 7.

(A) Both protoplasm and cell
wall act as a single-layer

(B) Only protoplast act as a
single layer

(C) Only cell membrane act as a
single layer

(D) None of the above

49 Tl T 8 99 I g A ST

&— Fifh BT

(A) TRRRY

(B) oI:9IUT

(C) O JygEeH

(D) N # & BIg T

JIATHS TR B U @1 e

g

(A) faaRor

(B) WRRRY

(C) LT

(D) SasEGaT

TRIERYT &1 Jfham # -

(A) Sigga Td SR feard Q1 U
WR B WY H B B 2

(B) ®dd, UCIaRe Uh WX & w9 H
PRl & |

(C) %ad PRGN fIeell Th TR @
w0 H BRI HRA 2

(D) SR & F Pg 81
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8. When a cell is fully turgid which 8. W9 U® Idr Tf Bl & @

one of the following is zero? frferRad # & @ Nl BT &
(A) Turgor pressure (A) TId <419

(B) Wall pressure (B) fearel gemg

(C) Diffusion pressure deficit (C) [d9R1 T9M9 ©1eT

(D) Osmotic pressure (D) WRRRYY <419

0. The process of taking gaseous 9. Rl gRT NI BIESs  JTRISS

carbon dioxide or oxygen by the YRR o DI UfhaT Bl & -
leaves is termed : (A) TR
(A) Exosmosis
(B) T URTENTT
(B) Endosmosis
ORI
(C) Transpiration
(D) fawo

(D) Diffusion
10.  C, cycle is common in which plant ~ 10. {9 UGy gl § ¥4 g% m &2

groups? (A) T g
(A) Temperate plants B) I TR ey
(B) Tropical plants
. (C) AW UR
(C) Xerophytic plants
(D) Aquatic plants (D) Feid KL
11. Osmosisisa: 11. WRRTE:
(A) Physical process (A) wifad foar
(B) Chemical process (B) RIS fpar
(C) Biological process (©) S BT
(D) None of the above (D) Yo § B T
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12.  The term ‘osmosis’ was coined by 12, TRRRY I8 @il 1T o

(A) Nollet (A) e
(B) Pfeffer (B) UWR
(C) Taylor (C) TR
(D) None of the three (D) o # B e
13.  Bacteria do not survive in salt 13. A% 9/l 3@R ¥ IER@T Sifad &
pickles because these get : wd —Hifd I & W &
(A) Plasmolysed (A) THAES
(B) Deplasmolysed (B) fSwcHargss
(C) Imbibed (C) ara3na
(D) None of the three (D) H &
14. In a plasmolysed cell, TP is equal 14, AIcTgos ®I@AT H o dlo aRTER
to : BT & :
A) 0 (A) 0
(B) -1 (B) -1
(C) +1 ©) +1
(D) None of the three (D) TR
15.  The unit for water potential s : 15.  Safema @ forv 3@18 ¢
(A) Bar (A) R
(B) Decibel (B) R
(C) Litre ©) Rz
(D) None of the three D) &
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16.  Plant absorbs water from the soil : 16. O ﬁ‘c"cp[ Y Tel BT AT PR ¢
(A) Mygroscopic water (A) ISR &el
(B) Capillary water (B) PRET o
(C) Gravitational water
(C) TEA el
(D) None of the three
(D) I T
17.  What is the most suitable 17. HoRM gRT UMl & @AWY & foy
temperature for absorption of 99 S AT s
water by roothairs :
(A) 40-45°C
(A) 40-45°C
(B) 10-15°C
(B) 10-15°C
. (C) 20-35°C
(C) 20-35¢C
(D) None of the three (D) dr # @l T
18.  Number of possible isomers of  18. Te[@io & MGAFRI &I WA AT
glucose is : 3
(A) 4 (A) 4
(B) 8 (B) 8
©) 12 ©) 12
(D) 16 D) 16
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19.  Active absorption of water from  19. TISgRI el | UM &1 by raRyol
the soil by-the root is mainly T T
effected by : _
(A) wredl D HITeH
(A) Typical tissue organization
(B) Respiratory activity of root (B) o 9
(C) Tension on cell sap due to (C) ds B BRI DI X TR TG
root (D) & # Pig TE
(D) None of the three
20. Passive absorption does mnot 20. fAf%FY AN B ARG ol B
require : (A) oot
(A) Energy
(B) ®H Sull
(B) Less energy
(C) frd SHoit
(C) Excess energy
D) & A '
(D) None of the three (D) e T
21.  The term root pressure was coined ~ 21.  ¥elqld NEACRIERIDIRID T
by : (A) WIHT g
han Hal :
(A) Stephan Hales (B) 5
(B) Stocking _
(C) amI
(C) Both
(D) oHFl ¥ W IS TR
(D) None of the three
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22.  Halophytes grow on 22. ¥ wU A [h ﬁE‘@[ UR ofqu ﬁa\
physiologically dry-soil due to P I B PRI E
presence of : (A) U H qur B A
(A) Excessive salt in water B) ot F oo @ o
(B) Excessive salt in plants
R (C) & 3Tl I ferer
(C) Excessivehumidity outside
D qal
(D) Dry soil D) TP 7
23.  Active absorption of water 23. T & AfHY ANV IG~ B §
creates : (A) T & TR W B THRHD
(A) Negative pressure in the 9
1 f root
xylem sap of roo B) T B Se— -
(B) Positive pressure in the
<
xylem sap of root e
C VilgelH X ¢ dhRIHD
(C) Negative pressure in the © ‘
xylem sap of shoot adid
(D) Positive pressure in the (D) WIE & WIgel ¥ G FHRIAD
xylem sap of shoot <drd
24.  Water can be absorbed from a  24. T & JIUNYY SRWIMSG SRIAeIA
hypertonic external solution by : R fohar &7 9 2
(A) Cytokinin in treated cell (A) ATsCIBRID TR BIFTDT
(B) Auxin treated cell (B) affe Su=nRa BIRPT
(C) Adding more water in the (C) 8 few 3 o e e
external solution .
(D) Adding a buffer in the D) o f 5 ofRE R
external solution -
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25.  Root pressure occurs due to : 25. e <419 gfed BT § ¢
(A) Imbibitional flow of water in (A) W & a9 & weed §
to xylem of absorbing part of
CIGICHICEIT
root :
(B) Law D. P. D. of leaves (B) d @1 B <o o <lo
(C) High D. P. D. of leaves ©) ufrdt @1 Sed Slo Yo Slo
(D) Osmotic flow in water into (D) W & e aRe Aol Sige
xylem of absorbing part of _
4 g BT WO aTE
root
26. How much tension is required to 260 B WX dF Us & U qd U @l
if-water up to the top of tree 6 g amavgdar g ?
(7
meter (A) 79X
(A) 7 bars
(B) 6 dR
(B) 6 bars
(C) 549R
(C) 5bars
D) & F P T
(D) None of the three ®)
27. Cohesive force of attraction 27. UMl & STQIGﬁ o 49 npuved @
between water — molecules is  up TR BT
to :
(A) 300 IR
(A) 300 bars
(B) 500 9R
(B) 500 bars
(C) 100 bars (©) 100 9R
(D) None of the three (D) A W Bl TE
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28.  Who proposed the vitalistic view  28. TAREY & Wde fﬁ&‘cﬁ‘ﬂ foem
of ascent of sap ? yRafad o ?
(A) J.C. Bose sir (A) So Alo I I
(B) Stephan Hales (B) wHd g™
(C) StrasBurger (C) TN TR
(D) None of the three (D) O # ¥ PSR
29.  Who proposed cohesion theory of  29. U®} # Ao fIgd &1 W@ &b
ascent of sap in plants ? X ?
(A) Dixon and Jolly (A) o @R el
(B) J.C.Bose (B) dlo ¥lo N
(C) Unger C) TR
(D) None of the three (D) & F B Tl
30.  When soil is always saturated with 30. o9 ﬁ‘c"cp[ B EHI Ead TERTs W !
water at certain depth, the point is J A fopam S 2 dl 39 favg G2l
known as : g w9 § ST T &
(A) Water table (A) o G
(B) Field capacity (B) B
(C) Soil water
(C) aroldt
(D) None of these
(D) T ¥ P T
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31.  Water potential of a cell in 31, sfowRr fdems ® TUdh DINBT BT
hypertonic solution : SRICLEE
(A) Increases (A) G ST 3
B) Decrease
®) (B) T Il 8
(C) Increases first and then
(C) U8l §¢dTl & X ¢ ol ©
decreases
(D) @I gRacH -8l I 8
(D) No change occurs
32.  Transpiration occurs from 32, IO BT B
(A) Leaves (A) TR
(B) Stems (B) T
(C) All aerial parts ©) i T o
D) Root :
(D) Roots D) e
33. Stomata open during the day time 33. W foq & 9 @ﬁ ®d & @i D
because the guard cells : DHIRNHTT :
(A) Photo synthetize and produce (A) T TN el § alR
osmotically active sugars el ey e e o
B) Are thin walled
®) ST HRA 2
(C) Have to help in gaseous
(B) Udel fearer @t &+ Bl ®
exchange _
(C) N fafw # #eg o=l @
(D) Are bean shaped
(D) T & PR BT B 8
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34.  Water of guttation is : 34. ﬁ?ﬁ]ﬂ BT UM T
(A) Pure water (A) gEord
(B) Water with dissolve salt (B) STH®
(C) Solution of organic food ©) FRET Ao BT e
(D) Condensed water vapour (D) WE W T

35. If the stomata are more on the 35, gfe T SW Hag @l SNl i T B
under surface of the leaf than on I P gdg W e edl & o I8
upper, it comes under : N 3T 2
(A) Oat type (A) W TP
(B) Barley type (B) 5 TER
(C) Potato type

(C) 3] YPR
(D) Potamogeton type o) -

36.  Which of the following is used to ~ 36. fim=foRad & ¥ foger Swaw def o
determine the rate of transpiration IO B X DI FAT PR b oIy
in plants ? fopaT ST &

(A) Porometer (A) R
(B) Potometer (B) By
(C) Auxanometer ©)
(D) Photo meter
(D) WIeHIeR
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37.  Wilting of plants result from  37. UMl & §E BT RGNS HR 2 :
excessive : (A) T
A) Respiration :
() Resp (B) WTRIHZCIy0T
(B) Photosynthesis
: (C) STRINT
(C) Absorption
(D) Transpiration (D) © NS
38. In many thin leaved mesophytes 38. @3 Udell WeleR Hoiprge # % fad
stomata open during day and close @ IR Geldl g, [ ¥ < BT &, T8
at night, this comes under : A AT B
(A) Barley type (A) S JBR
(B) Potato type (B) 3ef UhR
(C) Alfa-Alfa type (C) 3HI—3hT TR
(D) Bean type (D) T UBR
39.  The process of the escape of liquid ~ 39.  &Ifdud Wil @ 916 | TR & RAT B
from the tip of injured leaf is GiehaT BT HET Il &
called : (A) T
(A) Evaporation B) N
(B) Transpiration
: (C) fogam
(C) Guttation
. (D) AT —aTSICGT
(D) Evapo-transpiration
40.  Phenyl mercuric acetate : 40. BT WRNG THICE:
(A) Reduces transpiration (A) TG & Tl 8
(B) Reduces photosynthesis (B) VBIIRITAYT Pl Tl &
(C) Decreases water absorption (C) ST BT g 2
(D) Kills the plant D) o @ T W 3T 3
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41. The rate of transpiration is 41. IO B ) IR R B
dependent upon : (A) oD Yo
(A) Negative root pressure ®B)
(B) Temperature
(C) Slo Yo Slo
(C) D.P.D.
(D) Vapour pressure deficit (D) a4 <
42. A specialized  multicellular 42, URET # TH RN GgHRAGT R
structure in leaves which excretes S g @Y @ Bl Y Forerd ©
water droplets is : (A) R
(A) Lenticel
(B) ¥
(B) Stomata
(C) SleRY
(C) Hydathode
| (D) arvse fie
(D) Bordered pit
43.  Which one of the following is not ~ 43. F=felad ¥ ¥ HH-91 & Q&MU
a micro nutrient? dd Tei g ?
(8) Me (A) Mg
(B) Fe (B) Fe
(C) Mn (C) Mn
(D) Mo (D) Mo
44.  Transpiratory organ of a plant is : 44, TS U BT ATl 37T BT B
(A) Scales leaves (A) Tedhg uRpl
(B) Hydathode (B) el
(C) Foliar tissue system (©) W TP a4
(D) Vascular tissue (D) NaE SUd
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45.  Rate of transpiration increases : 45. Mo B o E!E_cﬁ g
(A) Winter season (A) el
(B) Rainy season :
(B) @ ¥
(C) When temperature is high
(C) 9 TTYHH $ed Bl & |
(D) When light is absent
(D) T4 HHTT IR Bl & |
46. The stomata open at night and are 46. g i # @Tﬁ g ok fed # o< =&
closed during day in : ¥
(A) Succulent plants (A) T B ¥
(B) Mesophytes L
(B) wHIGMS Uil #
(C) Hydrophytes
(C) TdIgHT Ul o
(D) Xerophytes
(D) #ogiel H
47. Who presented the active K* 47. =i & @Tﬁ Tq g5 BN DI |l K
transport mechanism for opening R INERCICRERIG] TR N
and closing of stomata : (A)
(A) Khurana
(B) ard
(B) Scarth
(C) dfde
(C) Levitt
(D) SIf
(D) Darwin
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48.  Hydroponicsis : 48. TESUIMNTE T
(A) Growing of aquatic plants (A) el e BT ST
(B) Growing of floating aquatic (B) R & S o BT S
plants :
(C) fo et & dml @1 ST
(C) Soil-less cultivation of plants
(D) UHI H dr BT S
(D) Growing of plants in water
49.  Which of the following element is 49. fy=fafad § F dH-91 T@ BRI
a component of ferredoxin ? @ Th °9Ch ©
(A) Copper (A)
(B) Manganese
(B) HT
(C) Zinc
(C) fSi®
(D) Iron
(D) SR
50.  Mineral salts absorbed by the roots 50. @MY ofau ﬁ‘c"cp[ I el gRT Saenfia
from the soil are in the form of : R
(A) Very dilute solution A) IR =
(B) Dilute solution
(B) T fac
(C) Concentrated solution
(C) 9y fderA
(D) Very concentrated solution
(D) 3RS A fdera
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51.  Which of the following is a free 51. fy=fafed § 9 6 Wa= odr @R
living and aerobic nitrogen fixing YA TS RG] ST 27
bacteria : (A) CIC e
(A) Azotabacteria B) ¥
(B) Rhizobium
(C) Rhodospirillum ©
(D) Clostridium D)

52.  Which one of the following is not 52.  famfolRad & 9@ e9—ar Th I gl
a mobile mineral nutrient : Yye el 27
(A) N (A) N
(B) K (B) K
(C) Fe (C) Fe
(D) P (D) P

53.  The micro nutrient among these, 53. T 9 @M XI&H 1Y T & -
1s: (A) Zn
(A) Zn (B) N
(B) N (C) P
©) P (D) Ca
(D) Ca

54. In plants a common symptom 54.  UEi ¥ P, K, Ca 3R Mg &I B
caused by deficiencies of P, K, Ca BHROT B Tl U AT oo @
and Mg is : (A) tl?ﬁif‘ﬁ%w—sﬂ'cﬁﬂ
(A) Bending of leaf tip (B) vl of ol
(B) Formation of anthocyanin
(C) Poor development of (©) et o1 T far

vasculature (D) 7 arRfer & @1 Hpe
(D) Appearance of dead necrotic
areas
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55.  Presence of phosphorus : 55.  HRHRY BT YR :
(A) Brings about healthy root (A) ORI WS B g PRl
growth (B) dl & U B SAIRT F
B) Promotes fruit ripenin
® pening (©) M B P @ o B
(C) Retards protein formation o _
(D) N # & BIg T
(D) None of the three
56.  Chlorosis occurs when plants are 56. GARINN BT & o9 Ul B SAa—
grown in : ST
(B) Shade (B) BRI §
(C) Strong light
_ (C) O Uar
(D) Fe-Free medium
(D) 3MRA Xfgd AEgH
57. Nitrogen is an important 57. g Uh HE?CF{U‘I gch BT © -
constituent of : (A) U
(A) Proteins B) fafre
(B) Lipids T
(C) Carbohyd ©
arbohydrates
. (D) Prepifeis
(D) Phospholipids
58. ‘Die back® of vcitrus and 58. o9 @7 NUR=N ey U4 wfewi vd
‘reclamation’ of legumes and MM B O Y ) B BN
cereals is due to deficiency of : 2T 2
A) C FIR
(A) Copper A)
(B) Sodium
_ (B) wifeTH
(C) Zinc .-
(D) Molybdenum ©
(D) HiferfesT
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59. Stem and root tips die due to 59. T Ud e @I Ap [bAD FH B
deficiency of : BRI W AT €
(A) Nitrogen (A) ?nsgﬁx_rrr[
(B) Phosphorus (B) BRHRA
(C) Calcium (C) dfosrgg
(D) Sulphur (D) HH
60. The theory suggesting that carbon 60. Rigra @ RSEUEE g f& oraummo #
dioxide produced in respiration ST FRTEE oSS
helps in the mineral absorption is _
GO H WEE HRAT & el ol ¢
called :
(A) Carbonic acid exchange (A) St &
theory (B) e fafrm Rigr
(B) Contact exchange theory (C) uha G g
(C) Achive mineral absorption
(D) SFF SARITaRT
(D) Donnan equilibrium
61.  Zinc is essential for : 61. fI® MaWd FU T
(A) Biosynthesis of chlorophylls (A) FARIRST BT STTGITT
: . I
(B) Biosynthesis of Indole 3 (B) /-3 TRIR Rre @1 4
Acetic acid -
(C) Stomatal closing
(C) W &l a5 &M
(D) Oxidation of carbohydrate
(D) FRTEEST BT RGO
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62. The first stable compound in 62. -3 TH H U ReR AfTa 2 -
Cscycle is : (A) Hio 3o Yo
(A) PEP (B) BRBFNIRG 3T
B) Phosphoglyceric acid ¢
®) OSPROSY ©) NIggeflvl slghixthc
(C) Ribulose diphosphate _ _
(D) T ¥ BIg 2l
(D) None of these
63. The first stable compound in C, 63. d—4 TH BT TH WRY IfTH
cycle is: (A) WostloTo
(A) P.G.A. (B) aloTolo
B) O.AA.
®) © 3ﬂ??10§[ofﬁo
(C) Ru.D.P. _ _
(D) T ¥ BIg el
(D) None of these
64.  Visible light range is: 64.  GYIATT YDTA T T
(A) 500—750 nm (A) 500— 750 nm
(B) 390-760 nm (B) 390 — 760 nm
(C) 450750 nm (C) 450 —750 nm
(D) None of these (D) 9 q Bls T8
65.  Assimilatory power in  65. YHY AT H AT Af T
photosynthesis is : (A) NADP
(A) NADP (B) NADPH, 3R A.T.P
(B) NADPH, and A.T.P (C) NADPH
(C) NADPH (D) ATP
(D) ATP
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66. The end product of light reaction 66.  UHT ffhar & 3ff~qH IS B
are : (A) AT.PIRN.AD.P.H
(A) A.-T.Pand N.A.D.P.H (B) AT.P
(B) ATP (C) N.AD.P
(C) N.AD.P D) o P T
(D) None of these
67. What is the end product of dark  67. ®fcdd =% & 3ER yRifhar &1 3rf<H
reaction of Calvin cycle: IAE A &
(A) Glucose (A) W
(B) RuD.P (B) 3R ?10%9[&?[0
(©) NADPHT AT (C) TUHoUoslollovd + Yoclollo
(D) None of these
(D) T ¥ P T
68. How many turn of Calvin cycle 68. ‘?{cﬁﬂ T Th 3] B M H b
require in making of one molecule Bfoas Th P SMAIIDHAT Bl 2°
of glucose? (A) 1
A) 1 B) 6
(B) 6
(€) 4
©) 4
D) 2 (D) 2
69. How many moles of AT.P are 69. T4 Bfedd TqH A W?lo‘sﬁo@[o Eal
utilized when RuBP carboxylates BIgddelc BT & df Uodlollo & fohae
in cycle? ARt BT TR R W 7
(A) 12 ATP (A) 12 Qoé}[otﬁo
E]z; 1: iiﬁ (B) 14 Uoclodlo
(D) 18 ATP (C) 15 TocloGlo
(D) 18 TocloGlo
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70.  Which one is the primary acceptor ~ 70.  U&I9 WIJAN H CO,&T YIAME IR
of CO,in photosynthesis? DI AT T 2?
(A) Ribose (A) Rarg
B) Ribulose-5-P
(B) Ribulose-5 ®) R S50
(C) Ribulose 1,5- biphosphate ~ ]
©) IRgellol 1,5—dIgthIRhC
(D) Phosphoglycerate
(D) PrepifieraRe
71.  Which one of the following is  71. fy=foRed & 4 oF & & 3 fawed
often called as facultative Gforp el SIrdl & -
pathway? (A) -3 ufe
(A) C; pathway B) ®—4 TP
B) C,pathway
B) C4 © 2
(C) C,pathway o
(D) CAMpathway (D)
72.  Where oxidative pentose 72.  IRiSfed UM BRWe U@ o
phosphate pathway takes place? WM W) il 2?
(A) Mitochondrial and cytosol (A) ARG W6 WEeHd
(B) Cytosol and plastids (B) WEeNIE W add
(C) Cytosol and peroxisome _
. . _ (C) WECNTd U4 TReTTaiIM
(D) Mitochondria and plastids - _
(D) HIgCIRI=gAT U ofddh
73. First stable product of dark  73. -3 UEl § SFIGR AMWfHAT BT Yem
reaction in C; plants is: I 2
(A) P.G.A (A) oot
B) Ru.B.P
(B) Ru (B) 311??10'6?[0@[0
C) P.E.P
©) ©) tﬁo‘g}oﬁﬁo
(D) O.AA
(D) 3ﬁoQoQo
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74.  Which one is called inhibition of  74. 3RS & ERI UYHY FIAYT

phOtosyntheSiS by Oxygen? 3TN Phal Td] %‘ :
(A) Emmerson effect (A) ARG JI1T
(B) Pasteur effect
(B) TR Y@
(C) Warburg effect
(C) IRIT YHId
(D) None of these
(D) T ¥ IS Tl
75. In which phase of Calvin cycle, 75.  Bfedd dH B B9 3wl # Todlolo
A.T.P is not consumed? T T3 Bt
(A) Carboxylation phase (A) T RTareT arqeen
B) Reduction phase
®) (B) Redw araen
(C) Regeneration phase
(C) RO araen
(D) None of these
(D) T ¥ BIg el
76.  Which one of the following forms 76. fFHfaRed § ¥ B9 W TE G
the reaction centers in the light JMfrar & AR dg gamaT &7
reaction? (A) TR e—a
(A) Chlorophyll-a
(B) FaRIfthei—b
(B) Chlorophyll-b
©) FARIB atb

(C) Chlorophyll a+b

D) FIRIBA a, b Td FfARad TWH
(D) Chlorophyll a, b and ®)

accessory pigment
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77. In experiments on photosynthesis 77. YT FIATT R YA H Dfeds gRI
the isotope used by Calvin was- SYIIT fhar T gdIely o—
A) 0" A) 0"
(B) c" B) C*
(c) c" © c"
(D) N' (D) N"
78.  Photo respiration occurs in- 78.  STH U9 YG9T BT B
(A) C; plants (A) C,uml
(B) G, plants (B) C, def
(C) All plants © o g
(D) Algae only D) e T &
79. The chief  metabolites of 79.  UPRI TGHT BT YU H[dlellgCH g
photorespiration is- (A) TAZDITTD A
(A) Glycolic Acid (B) TowloTo
(B) P.G.A (©) 3oToto
(C) O.AA : :
(D) None of these ) T R
80. In glycolysis, by which the A.T.P 80. TozaifiN H fhdd gRT Todlodlo
1s synthesized? G 2iar 27
(A) Fructose 1, 6 biphosphate (A) THaRE—16 EPRBE
(B) 6 phospho fructokinase (B) 6 B HRIB
(C) Glyceraldehyde 3 phosphate © S N
dehydrogenase
(D) Phosphoglycerate Kinase
(D) WRBINAT HIgTol
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81. In eukaryotes, where B-oxidation 81. ¥ HIRIERN ¥ dicT RIS Hal
takes place? W 2l g7
(A) Mitochondria (A) TEeIHgal
(B) Peroxisomes B) R B .

(C) Cytoplasm ©) _
(D) Both (A) and (B)
(D) (A)T (B) &

82.  During photo respiration, which 82. VPRI ¥NOH & ENT BM W1 BIRIGE
cell organelle is involved in the TAgHoe U TS3dolele @ BNl
conversion of  glycolate to 3 wfaforg 2 0
glyoxylate? A) NHIS
(A) Mitochondria B) e
(B) Peroxisome
(C) Chloroplast © FIRTES
(D) Nucleus (D) DD

83.  Glycolysis takes place in: 83. TSP Bl &

(A) Cytoplasm (A) DIRG 5
(B) Chloroplast (B) FARIGIE
(C) Ribosome ©) rednre
(D) Mitochondria D) .

84.  Which one is called as formation 84. TReRd Gl gilgd T q ‘?{cﬁﬁ ERb|
of glucose from acetyl co DI DE] ST &7
enzymesA? (A) TSP
(A) Glycogenesis B) Sotioto TF
(B) TCA cycle
(C) Gluconeogenesis ©
(D) Glycolysis (D) E
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85. By which, the ultimate biological ~ 85. fhd® gRT WHWG AT Hol el 87
energy comes from? (A) TodloWlo
(A) ATP (B) [ ware
(B) Sun light
(C) @I
(C) Glucose
: . (D) HEEIPIgd
(D) Mitochondria
86.  Which one 1s optimum 86. A—4 IH & YdH & forv g dmm
temperature  range  for  the M1 1 27
operation C, cycle? (A) 10 —20°C
(A) 10-20°C (B) 21-25°C
(B) 21 — 250C (C) 26 . 390C
(C) 26-39°C (D) 40 — 45°C
(D) 40-—45°C
87. By which light, phytochromes are 87. {9 UBIT & §NT BISCh™ Bl HIRD
physiologically maintained active? ®Y I Gfhg G SIrer 27
(A) U.V. light (A) ?10??[0 e
B) Blue light
(B) Bluelig (B) e W@
(C) Red light
(C) el YT
(D) Far-red light
(D) T Yhrel
88.  The substances which originate at 88. O yeRf @9 @ Aid W I B B
the tip of stem and control the 2l 21 & 981 fder @ fFafsa o
growth elsewhere are: 3.
(A) Vitamins A) ferfe
B) Auxins
(B) B) M
(C) Enzymes
(D) Florigen (©) =%
(D) TeARToH
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89. Auxanometer is used for the 89. 3MduMMIC BT STWIN TR & 37 &l
measurement of: 19 & forw fovar &7 g ¢
(A) Auxins (A) iR
(B) Growth ®) 7
(C) Movement

(C) i
(D) Respiration
(D) 9%

90. Which one of the following is 90. &N 9 /= # 9 UgTUWd TF §
known to induce flowering in Tl URT B & oIt ST ST 2°?
pineapple? (A) RN
(A) Ethylene (B) Todloto
B) ABA
) : : (©) foravfor
(C) Gibberellins
(D) Cytokinins (D)

91. By which the leaf senescence is  91. f&d® gRT TN & SoiRar faaffed gl
delayed? =
(A) Ethylene (A) TR
(B) ABA (B) TUodlolo
(C) Cytokinin

o (C) WECIPAFH
(D) Salicylic acid
(D) Welififerd e

92.  Which one of the following 92. fHfaRed § & &9 s@F & WA
hormones is required for the qfordT @ 9fg | IR Bl 27?
growth of pollen tube? (A) S THRI
(A) Cytokinin (B) Todloto
B) A.B.A.
® : : (©) foravfor
(C) Gibberellins
(D) Auxins (D)
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93.  2-4 dichlorophenoxy acetic acid is 93. 2-4 TRIARNGHIRI TRIRE o
generally used as: AR Y RN e ST § |
(A) Fungicide (A) TG
(B) Weedicide (B) Ty
(C) Pesticide
(C) WIS
(D) Growth inhibitor
(D) fdoN JrRMS
94. Volume of O,evolved/volume of 94, TH AT 9y ¥ el §"§Oz 1l
CO, absorbed in the given period I /JaMWT CO, BT I Bal
of time is called: S S
(A) R.Q. (A) ROQ.
(B) P.Q. B) P.Q.
© TQ ©) T.Q.
(D) None of these D) SEE e
95.  An enzyme is kinetically very  95. U® UwIgH WG ®Y W I GO T,
perfect, which is measured by its: SdT T199 BT &
(A) Km value (A) @ T 9
(B) K cat/value (B) & B2 /9
(C) K cat/km
©) T/
(D) Km/k cat
(D) & T/ &
96.  Which bond in protein is a strong ~ 96.  UISH WA § D A T 5 9% 77
bond? (A) AU Ied
(A) Vander Waals (B) TS T
(B) Disulphide bonds ©) SISS IO 4
C) Hydrogen bonds
() Pyctogen donds (D) SR ST
(D) Hydrophobic interactions
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97.  Which biomolecule is normally 97. HF @ g SO AT uHr A
insoluble in water? 3fdelg 2
(A) Proteins (A) T
(B) Lipids B) forfew
(C) RNA
(D) Carbohydrates (€) SReReRo
(D) PrdiErEse
98.  “Staff of life” is called to which ~ 98. {5 g ] &I “Sas & S Bal
molecule? SIreT 27
(A) Proteins (A) P r e
(B) Carbohydrates (B) FEEEse
© L1p1ds- | ©) fifs
(D) Nucleic acid
(D) Y sl
99. Which one of the following 99. fym=faRad & & fw glE A eRawIta
hormones helped greatly in green H U9d GEINT fhar?
revolution? (A) oo
(A) Auxin (B) N
(B) C}./toklnm. © A
(C) Gibberellin
(D) Ethylene (D) Rt
100. On the basis of mass, which one is 100. YR & ER W HIF T Udh dgd TR
the most abundant class of A BT O/ 37 27?
biomolecule? (A) rict
(A) Protein B) &
() Suees (© fufisw
(C) Lipids
(D) DN.A (D) SHoteo
Xhkdkkk
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which All 100
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the first most option will be considered valid.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination please hand over the Answer Booklet

(OOM.R ANSWER SHEET) to the Examiner before leaving the

examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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